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Part- 1 (01-50)

1. Choose the correctly punctuated sentence.

A) Jerry wasn't able to complete the project, because he had to attend another meeting.

B) Jerry was'nt able to complete the project, Because he had to attend another meeting.

C) Jerry wasn't able to complete the project, because, he had to attend another
meeting.

D) Jerry was'nt able to complete the project, because, he had to attend another
meeting.

2. Choose the correct option to complete the sentence.

man is best creature.
A) A, an B) A, the
C) The, the D) No article, the

3.Choose the correct option.
The judge was forced to acquit, saying the evidence was wholly

A) inconclusive B) preconclusive

C) unconclusive D) foreconclusive

4. Choose the option that is an antonym of the given word.

ARROGANT
A) Diffident B) Presumptuous
C) Snooty D) Imperious

5.Which tense is used to demonstrate an action that occurred before another action in the

past?
A) Present continuous B) Past progressive
C) Past perfect D) Simple past
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6. Identify the tense in the following sentence.
He had not been able to sleep all night.

A) Past simple B) Past indefinite

C) Past perfect D) Present perfect

7.What type of sentence is the following?
The weather is warm and sunny; a perfect day for a picnic.

A) Declarative Sentence B) Imperative Sentence

C) Interrogative Sentence D) Exclamatory Sentence

8. Choose the correct word from the options given to fill in the blank.

George was known for his and helping nature and was liked by all immensely.

A) illustreous B) illustrious

Q) illastreaus D) ilastreaus

9. Choose the option that has a misspelled word.
A) Constitutonal B) Hygiene

C) Supplements D) Tongue

10. Choose the option to fill in correct articles in the sentence:
Colonel Sharma is known to be __ visionary officer and ___ upright
gentleman in ___ battalion.

A) a, an, a B) the, the, a

Q) a, an, the D) an, an, the

11. Fafefaa 7 @ iy &) oI f Ioert T8t 87 /

Which one of the following countries does NOT have a capital?
A) A13% / Nauru B) ddT® / Tuvalu
C) UaT3 / Palau D) #W/ Nepal
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12. Frofafed # § H19-91 ”IM YR § S9N gexaid & g UG 87 /
Which of the following place is famous for Krishna's Butterball in India?

A) <TaTeft, 3fiel UG / Lepakshi, Andhra Pradesh
B) HETIGIIGRH, AAHTg / Mahabalipuram, Tamil Nadu

C) ATqHfaR, Tifga’t / Matrimandir, Pondicherry
D) WWH&[ HYXT, ?{Cﬁ/ Krishna Janmabhoomi, Mathura, UP

13. fFafafed & @ o gRwEe tHe ety (UPl) WHR & ardl T9H JRIGR <=1 & T/

8? / Which of the following has become the first European country to accept the
Unified Payment Interface (UPI)?

A)  Wig / France B)  ICol/ ltaly

@) q\ﬁlsés fhTT8H / United Kingdom D) T / Spain

14, "TId Y BR G TS A T TaieT ! ¢ & TRd IR dgsh” [ o 18 & /
"Soul Curry for You and Me: An Empowering Philosophy that Can Enrich Your Life"
is a Book written by:

A) A d=@ / Amitabh Bachchan B) ﬁl‘q’@@/ Shiv Khera
C) XAt zMf / Robin Sharma D) Tl HTgzaR! / Sandeep Maheshwari
15. Weg 3 gefarc! fobg RIM WR YT 82 /

In which place is the Statue of Equality situated?

A) o e, T[SIRTd / District Narmada, Gujarat
B) 8aRT4IG, JGHTHT / Hyderabad, Telangana

(@) EﬁET, ISR / Kota, Rajasthan

D) AR, XISIRIT / Nathdwara, Rajasthan

16. HRT H AP 31Ul FeieH WIS f5g HAred & Siarid il 62 /
In India, National Disaster Management authority comes under which ministry?
A) HRURE BT HAT@T / Ministry of Corporate Affairs
B) W Td URAR &l HATT / Ministry of Health and Family Welfare
C) I8 HATT / Ministry of Home Affairs
D) faewr Hare / Ministry of External Affairs
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17. 3¢ fRHIGEA A2Hd UTdh TREUT &F DI Tveh! &1 [ay eRTex i@l &1 gl 7 au HI
e fod1 11 / The Great Himalayan National Park Conservation Area was added to
the UNESCO list of World Heritage sites in:

A) S 2014 / June 2014 B) 31U® 2012 / April 2012
C) HTd 1988 / March 1988 D) Hs 1986 / May 1986

18, Froferfad & ¥ fog =M R UNIDO &1 JBTer R 87 /

Headquarters of UNIDO is located in which of the following?
A) f&g1 / Vienna B) URY / Paris
Q) I / Rome D) q's‘ﬁﬁﬁ/ New Delhi

19. Mafde T g g SRIHT Jrau] FERIgIAIl /

Prolactin is a hormone made by the:

A) SfFRM / Pancreas B) W %fY / Pituitary gland
C) Ihd / Liver D) 3SR / Ovaries
20. THTEHT AER e 21 & T Sffell 62 /
Tomatina festival is celebrated in which country?
A) HRd / India B) dIF / China
C) W / Spain D) 3{i%efAT / Australia

21. I =T DR Y7l Bl G DI /

Complete the series choosing the missing number.

3,8,18,38, __ .
A) 78 B) 70
Q) 74 D) 76
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22. IR, 3ifHd 3R IS P! 3 & s YT U 3:6:7 31 Al SHTA 3R Bl Bt 3 P
o &7 3R 13 T &, A R 3R 3ifid &t 3y F offw o SR fHaR? /

The respective ratio between the ages of Neeraj, Amit, and Kaju is 3: 6: 7. If the

difference between the ages of Amit and Kaju is 13 years, then what is the difference
between the ages of Neeraj and Amit?

A) 36 a4 / 36 years B) 39 a¥ / 39 years
Q) 37 ay /37 years D) 38 v/ 38 years

23. ¢ 20 T &1 HY b, 25 T & [dehd Yool & SRIER ¢, al g1 BT Wfa=id gl /
If the cost price of 20 books is equal to the selling price of 25 books, then the loss% is

A) 15% B) 20%

Q) 25% D) 30%

24. IO, IR 3R g @ 3T oMy 42 9 §1 TG ST 3T HHE: 2 : 3 : 4 & U o
gl R B 3 (Eﬂ?fﬁ) RIT 8?7 / The average age of Sanjana, Sharon and Chris is 42
years. If their ages are in proportion of 2 : 3 : 4 respectively, then what is the age (in years)

of Sharon?
A) 28 ¥/ 28 years B) 42 g/ 42 years
C) 56 @Y / 56 years D) 14 @8 / 14 years

25. W G- DY DR YIB! R DI /
Complete the series choosing the missing numbers.
14,18,17, __ , __ , 24, 23.

A) 19,29 B) 21, 20

C) 18,23 D) 23, 26

26. 9 €t 718 QT § Teslt &1 U S a1 T § | JEI9R e I B ugaH
PITT| / The series given below contains a sequence of numbers. Accordingly identify
the INCORRECT number.

3,12,48,194,768, 3074

A) 12,194 B) 768, 3074

C) 48, 194 D) 194, 3074
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27.7f2 5,10, 15, p, 20, 35, 40 HT 3T 218, N p HIAFB: /
If the average of 5, 10, 15, p, 20, 35, 40 is 21, then the value of p is:

A) 18 B) 22

Q) 25 D) 30

28. 64000 TUY D1 MR DI IR YiFeh! & s HHRN: 7: 16 : 3 : 6 o U H fauriord faan
ST 8 1 A i T e (it H) gl /

A sum of Rs. 64000 is divided among four workers in the ratio 7 : 16 : 3 : 6 respectively.
The share (in Rupees) of the fourth worker is

A) 8000 ¥TT / Rs. 8000 B) 7000 ¥UY / Rs. 7000
C) 12000 ¥UT / Rs. 12,000 D) 10,000 ¥UY / Rs. 10,000

29. frafafaa & ®19-91 31&R T 82 / Which is the missing letter?

B T W M

] R X L

F P Z 1

H M B H

1 L D 7
A F B) A
o)e D) E

30. TicH, MY B g1 H SR 21d § 3R I o U & 1 22 3 & o1 v &1 iiaH
3{h T I HH B fohe e H [T B2 /
Gautam is twice as good a workman as Ravi and together they finish a piece of work in
22 days. In how many days will Gautam alone finish the work?

A) 35 a1/ 35 days B) 30 fa-1/ 30 days
0)33fa1/33 days D) 32fa/32 days

31.9f¢ 3T 1 9 100 b &1 Gt T=ATE fomd €, d 34 2 & fhat aR fog™? /

If you write down all the numbers from 1 to 100, then how many times do you write 27
A) 21 B) 20
C) 19 D) 22
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32. <9 S99 1 AT SPURT: 3:4 1 5 % SFUTT H g1 7§91 gRT THM gl 0 & | forg g
T T Gefid SruTd : /

The speed of three buses are in the ratio 3 : 4 : 5 respectively. The respective ratio of
the time taken by these buses to travel the same distance is:

A)20:15:12 B) 15:20: 12
C)12:20:15 D) 15:12:20

33, Od fU9 & =0 H o foar SraT 8, @t 72% & sRIeR g1TT: /

When expressed as a fraction, 72% would mean:

w25 5 25
18
15
9 -~
O — D
),|5 ) g

34. Tt Tem & vl & I T & 6 AT A P SIS S 8 Al 98 7 W1 W 24 HAE B
TSR T & | G R 8? / The square of the number increased by 6 times the number
is equal to 24 more than the number. What is the number?

A) 3 B) 8
Q)5 D) 7
35. 4178 ’Bj@?ﬂﬁ DT 3R qud 8? / Which is the missing letter in the given series?
B E J .
A)M B) Q
(GN6O) D)p

36. fd WORK &1 23 —» 15 = 18 = 11 & ®U H IfSd a1 71 8, & WOMAN T HIS a1
BRTT? / If WORK is coded as 23 = 15 = 18 = 11 then, what will be the code for

WOMAN?
A 4d—-12-14-26-13 B) 23—+15—-13->1->14
Q)14—-1-13-15->23 D)13—-26>14—>12-4
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37. 80 TSP 3R ASfHal & JUg ¥ dSfhal, dsdh! § dF 1 8, I+ Y F 329 ™ R g
i I & 3 3 TS &, Al ISP 9l fbat Asfbai 82 /
In a group of 80 boys and girls; girls are thrice that of boys, Rani ranked 32" from the
top. If there are 3 boys ahead of Rani, how many girls are there after her?

A 48 B) 32
Q) 31 D) 29

38. g ORANGE & EBSFMO & &0 H ®ifed fdbar Siiar 8 MBSDOA g Teg dT dhie 82 /
If ORANGE is coded as EBSFMO, what will be coded as MBSDOA?

A) GRAPES B) RAGPES
C) STOSOM D) S_v-l'f[ I ?ﬁ'sc 81 / None of these

39, 319 HIe § 3R 3! U urdf o mfd farar Siran & s sga if¥ies aar-yAm gan
VIS BIT 31 AT SHTUeh! Tl § o ofTuehs IRR & forg I et a1 71 T H oma @
®T: / You are obese and are invited to a party with a lot of oily and fried food. But
you also realize that they are not good for you in the long run. You would:

A) I eI W Rl 30 FABRS IS Bl S & 1/
Not eat them as you know the harmful effects.
B) S8 WU dfchT 1¢ H 7 U f@ | / Eat them but drink warm water later.
C) 38 W4 fihr ford S| / Eat them then go to the gym.
D) W*ﬁﬁ@%%ﬁ@@l / Eat them without thinking of the

consequences.

40. Fgfeiad e & U fha- 8 8 o uga 34T Ta 3 82 /

How many 8's are preceded by prime number in these number?
198466578096481287538984858729

A) 4 B) 8

Q)7 D) 9

41, TYH 6 Ui ToIS 1 3fad _ giargl/

The average of the first 6 natural number is
A) 35 B) 5.5

025 D) 4.5
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42. 19 15 3fc aTd FARTHTS HATE STd g | OfF Uh TIPS qIefase w0 I Fdbrar S g
Y 2 31 5 3 T[UIS aTelt TRSAT T FIRThTS U g4 & Wi on gift? /
Flashcards numbered 1 to 15 are mixed up. When a flashcard is drawn randomly, what
will be the probability of the multiple of 2 or 5 numbered flashcards drawn?

A) 12/15 B) 11/15

C) 9/15 D) 6/15

43. 9f¢ 21 FdR, FYIR ¥ Uid 7 Ugd GSdT g, af 25 fedaR &t d-w1 fa= gme /

If 21° November falls five days before Wednesday then, what will be the day on 25%

December?
A) dYdIR / Wednesday B) }fddR / Sunday
C) }[ehdRR / Friday D) [®dRR / Thursday
44. T [ DTS 1191 # RED BT UBG P U H foral OITdl &, I IS HINT & COT BT bl
fera®? /
A certain code language RED is written as UBG, then what is code word for COT?
A) FLW B) FRW
C) ALR D) WLF

45. 7 AT 31 -, BT 31 =, € BT 31 +, 3R D 7 31ef « B N T T Yo BY:
If A means -, B means +, C means +, and D means x, then evaluate:
15B3C24A12D2="?

A) 34 B) 20

Q5 D)3

46. 519 e 31 G2 2 ©eT 35 e 31 g8 99 Sl §, O SUD gRI ad B T8 HIUg g I
DIfeT? /

When the minute hand covers 2 hr 35 min, then find the angular distance covered by it.
A) 360 B) 180
C) 930 D) 390
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47. 39 TP BT I B3 ol 37 i fapedl I fUT g
HIf-1a, gaeh, e, area /

Select the one which is different from the other three alternatives.
Cornea, Pupil, Retina, Valves

A) Qﬂ?ﬁ / Pupil B) HITAT / Cornea

C) dled / Valves D) e / Retina

48. T 6x4=30,7x7=563R9x3=362 d912x4=?/
If6 x4=30,7x7=56and 9 x 3 = 36, then 12 x 4 =7

A) 60 B) 48

C) 50 D) 56

49, . T wsdl & THg H q HH-T1 Uea T 3T 82
warfafa, e, Hetofafa, wftm
Which is the most dissimilar in the following group of words?
Geometry, Algebra, Trigonometry, Mathematics

A) ST / Geometry B) oflSIvfOrd / Algebra
) Bt / Trigonometry D) TIfO1d / Mathematics

50. 3R} BT HI-91 A Rad RIFT § TP & 916 Ud 38 W &l 715 3HeR 47 Bl 1

HM? / Which sequence of letters when placed at the blanks one after another will
complete the given letter series?

bb _aa _bb _baa abb_baa
A)a a b ab B)b, b, aab
QOb,a b, ab D)a b, b ab
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Part- 1l (51-150)

51 . ®IF-U1 Xeq fhdl B I THI TT F IR & Y A 1, DI, &AArst 3R 3=
fo=idraq W\’rﬁ) ﬁ“v'l’c{m_dm% / What term refers to the Knowledge, Skills,

Abilities and Other characteristics (KSAOs) required to perform a job effectively?

A) HI fIaRTT / Job description B) HI fafTdaT / Job specification
C) HTd fazowT / Job analysis D) WW / Job evaluation

52 . fr g Tioiae UsieA a7 ff Tioiae & 1 -4 & e Siiawues Jane i 87 /

Which project management constraint involves the resources needed to complete a

project?
A) ¥PIU / Scope B) THY / Time
C) ®NId / Cost D) UraT / Quality

53 . el & 3 Il Sare Faes iR A= &) gatad =0 3 1 gRYTNG HRd18? /

Which of the following best defines Material Production Planning and Control?

A) STIGA Bq Bl AT U B i Ulehar| /
Process of acquiring raw materials for production
B) T &1 T = & ford Iere Tfafafert o) THg-gRuft qOR &R &1 ufshan| /
Process of scheduling production activities to meet demand
C) Ueh! I AR A S9- ! ufeha| /
Process of selling finished goods to customers
D) IIG H HId JHIL Ui i Ufchan| /
Process of managing human resources in production

54 . 4 & o H ST a2 & grRI P R eR femn man g2 /

What is emphasized by the Deming Philosophy in terms of leadership?

A) Rizes faverdrsii & fog safddl &R $RIY T /
Imposing blame on individuals for system failures

B) bIicieh RRRTT ¥ 3 SiedapIicias ATH P WA &1 /
Prioritizing short-term gains over long-term sustainability

C) HHANRA! & o TgaNT IR Iy 1 Uieafed BT /
Encouraging collaboration and trust among employees

D) U 3T 3TR-Fi=01 [eh) 1 39T /

Adopting a command-and-control management style
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55 . frferaa & @ Il Iare s 3R =T &1 &1H-91 UgE arH 82 /

Which of the following is a key benefit of effective material production planning and
control?

A) STTG AT | q@l / Increased production costs

B) WWH@@I / Improved customer satisfaction

C) SMIG &HaT & HHT | / Decreased production efficiency

D) 3= HHART THINR R / Higher employee turnover rates

56 . fpat e & WiaR Hequd 3ot &t urufie Yt s g? /
What is the primary role of TQM leaders within an organization?
A) HBR aH aﬁ?ﬁﬁmﬁﬁmm/ Enforcing rigid rules and regulations
B) i o= ot ufgsansit & sl o Hifie™ & &1 BT/
Minimizing employee involvement in decision-making processes
C) Ut TuraT yeyH Rigidl & Hrafaa- o gfauree T/
Facilitating the implementation of Total Quality Management principles
D) Ugchl Ufad o dHanial 9 ufafsar Sik gdl &l ToRaieT &l /

Ignoring feedback and suggestions from frontline workers

57 . ®I--1t Ufhar safaaid a1 URRGRUT (MRRIT) BT auiq HRdt 87 /
Which process describes individual information processing?
A) 9z fofg-feRo wfdet / Group decision-making dynamics
B) TIHD l;l\dlr‘/{s 3R aq: =My / Cognitive biases and heuristics
C) Trere HifSar G HIidT UMl / Social media engagement strategies
D) ST€ Waie dabrileh / Brand management techniques

58 . ABC fa=ei o ITet It axgsit &1 S1h Y SR W avfiehd v & /
ABC analysis categorizes inventory items based on their:
A) TUIHTET HH / Alphabetical order
B) aTftfes HITT &1 AET / Annual demand volume
C) HRR / Weight
D) fafator amTd / Manufacturing cost
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59 . 3¢t T SUTd (SMTSCI3MR) 3 1 &1 Th IfId IUM g b fordt a1 o wrerg=ht &t
IUINT fba= quTdt &0 J faan S @1 81 SMESIR &1 Y UbR e fobam ot qahall §: /

Inventory Turns Ratio (ITR) is a convenient measure of how effectively inventories are
being used in an organization. ITR can be expressed as:

INEILERCEaN Q@Iﬂ?ﬂ?ﬁﬁ 3 / Annual sales /Average inventory held

B) Q@Iﬂﬂﬁ?ﬂﬁ 3fd / arfties faept / Average inventory held / Annual sales

O 1+ @%ﬁﬁ/?@ﬂmﬁ?ﬁﬁ Bﬁﬂﬁ) / 1 + (Annual sales / Average inventory held)
D)1- R@Iﬂﬂﬁ?ﬁﬁ Gﬁﬂﬁ/ﬁmm / 1 - (Average inventory held / Annual sales)

60 . TSATHD UG DT HhaT B & 7T DHI--JT DB TN fhaT Sar a2 /

Which approach is used for assessing organizational identity?

A) fa<itg fa=aiwur / Financial Analysis

B) UTgh Jd&fuT / Customer Surveys

C) IR Ugd UHRI &I UM / Four Identity Types Framework
D) STSIR & faUTSIIdHRUT / Market Segmentation

61 . FASREd & 9 ®H-11 U STRERN Y[t @1 &1 =T 872 /
Which of the following is a characteristic of a responsive supply chain?
A) Bﬁﬂ?ﬁﬁ?/ High inventory levels
B) T YHY A A BT/ Long lead time
C) AT § aRad & U 3G B BT AdTgH /
Flexibility to adapt to changes in demand

D) mﬁﬂfﬂaﬂ/ Centralized decision-making
62 . {5 Tioiae Uae Ufohan & tiolae TG JR= A o AT SITHIGH UTd AT =M 62 /

Which project management process involves obtaining approval to begin project

execution?

A) UISIdE T YR / B) UTolae b AT ST /
Project initiation Project planning

C) Molae FAwre / D) UISiae &1 HHIUH /
Project execution Project closure
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63 . Fafofaa # § Ao T ora = fafte o1 urufie SE=a Sia-ar T 82 /
Which of the following is NOT a primary objective of inventory cost control methods?

A) gmlé ANTd &1 gAdH HRATl / Minimizing carrying costs
B) TR ANTd &1 UHdH HRATI / Maximizing ordering costs
@) Wﬁmml / Reducing stockouts

D) Wﬁmﬁﬁﬁﬁ&h@ Gl &Wﬂml / Optimizing inventory turnover
64 . fp A el # wr=niRal & 3= TR @) Wawar 3R vl a9 &1 sifter 31 2nfira

87 / Which leadership style involves giving employees a high degree of autonomy and
decision-making authority?

A) PRSI Add (THdAIT Add) / Autocratic leadership

B) FUTARUN g (CFIBIHRA ISRIRM) / Transformational leadership
Q) r«ﬁw%ﬁaa @W?ﬂ@?&m / Democratic leadership

D) &Eﬁﬁcﬁﬂa (WWW / Laissez-faire leadership

65 . AT il TeeH H SRUG TS o] (RISH Wiehd! S e hdbRH) ddb-ildh Bl AR] B b ATHI

# fA9 Wfhferd & / The benefits of implementing RFID (Radio Frequency Identification)
technology in inventory management include:

A) mgﬁ?ﬁﬁq@/ Increased manual errors
B) HTd ]9dl H HHI / Reduced stock visibility

@) WW?@T@W 3R TZTar / Improved inventory accuracy and visibility
D) 3= 4H dTd / Higher labor costs

66 . JUFfaes =0T BT g S5 T 87 /
What is the primary objective of strategic control?
A) fea-ufafea %Waﬂﬁﬁ USYT / Micromanaging day-to-day operations
B) ScUpIieich QTSR IAR-A¢Mdl UR UldichdT H=-T /
Reacting to short-term market fluctuations
C) YU Te 3R I & 1Y TRQ01 YT H3AT1 /
Ensuring alignment with strategic goals and objectives

D) H3R TNHITE] msﬁﬁugaam/ Implementing rigid bureaucratic procedures

67 . AR &1 3fed D U Pl HH B 3R IAG] B ART TR B
dfa & o off Ierrar AT 81 / Proper of materials also helps in reducing

their wastages and controlling the cost content of products.

A) STTNT / utilization
C) BT / issue

B) 94 / purchase

D) HSRUI / storage
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68 . TIHY P TY 3IET- 3T IR DHIS/aG3MR-BIS/ARUBEIAHTS Sl &1 BT IUANT A7 & Jergd!
AT &: / The use of distinct Bar codes/QR-codes/RFID tags for SKUs helps in:

A) HId ﬁ?ﬁ a8 B AN I HH B | / Reducing inventory carrying costs
B) WW@@@&MﬁWﬁWﬁ/ Increasing inventory audit costs
@) 'gﬁ'cﬁ DI TG I|d ﬁ?ﬂ?ﬁ T/ Timely correction of errors

D) Wﬁﬂﬁe{ﬁ/ Reducing obsolescence

69 . BT Bwg b oI URITH GHY ! 1 Hed 87 /

What is the transit time between work centers called?

A) I CIFH / Run time

B) W 3(U TIH / Setup time

C) RIMIARUI IHY (Hd CI8H) / Move time
D) Ucll&fl I8 (dc TIH) / Wait time

70 . SIS BT BT U - H Arht Iare e SR fd=orn Fr yffrest Ay 82 /
What role does Material Production Planning and Control play in achieving
organizational goals?

A) T8 RHRI F8! &1 3ruTe gRd sxar gl /
It ensures compliance with government regulations.

B) U8 JMIGH ATl Pl UM Sedl & Ty Sl a1 WRiad A1 & /
It aligns production activities with strategic objectives.

C) I8 fufa o & HHarl &t ARt & aH SR gl /
It minimizes employee involvement in decision-making.

D) I8 SIGH B & foIT JuSHar! W FHRar sgrar g1 /

It increases reliance on subcontractors for production tasks.

71 . SUR fhgeR AfYed THIHI0 BT IR $Y HId 7 /

How does Daimler Chrysler communicate global integration?

A) fafte & & T SrevT-3ren SifeT iR TaR JUMHIfaa! o 9T R /

By maintaining separate branding and communication strategies for different
regions
B) dfiehur ¥ Haifdd fordlt oft TR & sy /
By avoiding any communication related to globalization
C) fafta SR & o= SifET SR TR T &1 Udbidd B /
By integrating its branding and communication efforts across diverse markets

D) T TRE ¥ R fauuM [@1eh e oM IR & dhiad #b /

By focusing solely on local marketing tactics

Page 16 of 41



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

72 . ORI Y (Wioiae ARsiie) B adb Sh a3 Wk (S, al.ud.) &1 e 1 87 /

What is the purpose of a Work Breakdown Structure (WBS) in project management?

A) GRS o IR ! GRYUTT BT/ To define project objectives
B) TGS THTeH! BT 3HTde BT / To allocate project resources

C) URASHT SRHT &1 Uga™ @31/ To identify project risks

D) RS B B B, Uey=Ig geh! # fauTord &1 /

To break down project work into smaller, manageable components

73 ﬁqmﬁqﬁlﬁf@lﬁﬁﬁl’ql / Define Bin Card.
A) HERTE e & faxiia sfidel I Hafrd udh araid Rabls | /
An accounting record concerned with the financial data of store transactions.
B) TUsId a¥3il & alTd Yed Aigd G Arafddl &1 U Wrdll /
A ledger of all materials, including cost prices of items stored.
C) 7% IrEdt faaRd 3 & foTe Iare a0 WR U Hie dar fosar mar o /

A note was generated on the production floor for the issue of new material.
D) IRt &) forelt o ot wnftera, fAefet SfR qHToH QY &1 AT Rl |/

A quantitative record of receipts, issues and closing balance of an item of material.

74 . T Treq & HidR ufauTTeh HHial &1 Sfifd B3, f[IBRId B 3R 3¢ 91T 3@

o1 UfshdT T 8? / What is the process of acquiring, developing and retaining talented
employees within an organization called?

A) TTd ST TS @G R W) / Human resource planning
B) TSR Y& ((RBIRAY HAsie) / Performance management

C) UfqHT Usiei (@die BAHe) / Talent management
D) 3dXI YBR IS (FIH@WWIT@TD / Succession planning

75 . fuia a9 ) ISR 31 & o sifers! & Tafd ©U § Thd B4, faway o4 iR
SRAT B DI UfshdT T 8?2 / What is the process of systematically gathering, analyzing,
and interpreting data to inform decision-making?

A) qafanﬁ @W‘D / Forecasting
B) ey ﬁl—@' (ai[ﬂ'lﬁ?"l) / Benchmarking

Q) &@‘i{ﬂ@ﬁm (ﬁﬂ?fqgéaﬂuﬁa / Research and development
D) &mmﬁ@w (STETQHT[%T@H) / Data analysis
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76 . G i BT UR=g T U g W Hfed gare? /

What does the introduction to Business Policy primarily focus on?

A) TRETe UM 3R e TEUH / Operational tactics and day-to-day management
B) ST & FSIHI 3R SR fARATUT Pl FHIHT /

Understanding industry trends and market analysis
C) TS Ted 3R ddopiierd Ie=dl ol HeiRa BT/

Setting organizational goals and long-term objectives

D) HHART UFR&01 3R b HrRisH / Employee training and development programs

77 . B3 3R UfagT & S oy BT A 33T qUH B Bl 87 /

What best describes the relationship between image and reputation?

A) B3 T2 Ao & defifd Sl 8, Safe ufay st 3R grRuns wR nymid gial

gl/ Image refers to visual representation, while reputation is based on actions and
perceptions.

B) Bfd 3R UfaNT U € 3IgURN &) FAefid o3 a1t IRER A8 (3ied-sed g

GIS) U< g1/ Image and reputation are interchangeable terms representing the
same concept.

C) Bfd T UfIsT R Y41 STerdl 8, Afde ufamT 8 R uHre 78 STt 81 /

Image directly impacts reputation, but reputation does not affect the image.

D) UfagT Bfd &Y gHIfdd Rl @ 3R B3 uferst &) gvifad & Il |1/

Reputation influences image and image can affect reputation.

78 . [UraTqUl SfATT! | AR TR -t faRivard St gt 87 /
What are characteristics commonly associated with quality leaders?
A) WBER Fufg A91 IR e veieq /
Autocratic decision-making and micromanagement
B) UR@cH 3R AT BT 3 P =T /
Reluctance to embrace change and innovation
C) g Add 3R IH ¥l & Ufd Ufdagd /
Visionary leadership and commitment to excellence
D) TR 3R TEINT BT 3HTd /

Lack of communication and collaboration

79 . USeH &1 UTdfie o1 1 811 82 / What is the primary function of management?
A) TISHT ST (W) / Planning
B) faUUM (WThTe) / Marketing
C) WG (UPTSIET) / Accounting
D) AFd T (GgA- RERIS) / Human Resources
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80 . BI-Ul AT Gl Ueie deb-itcs AT Yl & FARAR TR Pl §H1E T 3R Had T g
TR 29 IR ¥ 4R R Hd 82 / Which inventory management technique focuses on
maintaining a constant level of inventory and replenishing it only when depleted?

A) Eﬁﬂm 3SR wifedt (‘s‘ahaq) / Economic Order Quantity (EOQ)

B) SRC-3H-CIgH (SI3Mel) / Just-In-Time (JIT)

C) fiefaa Reprsiey w1 @H3R) / Material Requirements Planning (MRP)
D) flheRes 3SR Hifedt (WS / Fixed Order Quantity (FOQ)

81 . TS wrafaa &1 7= & (WBidhd) R 82 /

What is the primary focus of strategy implementation?

A) AT $I AT & [T G-I UeRi gad! &1 ugar HRT /
Identifying key performance indicators for measuring success.

B) UM prai-aa &1 gHdT B & o Tre-Tes Txamait ik ufshansit &1 fasm
HRAT/

Developing organizational structures and processes to support strategy execution.
C) STSIR BT TSR YT B o forg wferegeff fazersor &1 /

Conducting competitor analysis to gain market insights.
D) ScTE URTEHTT 1 T PR b foIT ATgeh! bl UldifshdT b1 Hedich] bR /

Evaluating customer feedback to refine product offerings.

82 . YIGIHD Heuich1 &1 Jied 330 1 87 /
What is the main objective of organizational appraisal?

A) HHTfad faer SR IRl & SfawR| &1 UgdT BT /
Identifying potential merger and acquisition opportunities
B) T3 o fareiid UGRH &1 Sfieet bRAT /
Assessing the financial performance of the organization
C) e I 3fidlkes faaal 3R HHSNNG! BT Jedid BT /
Evaluating the internal strengths and weaknesses of the organization
D) SIS SIFRSehall §¢M & foIT fauur (@Tehfd) St faebiRid & /

Developing marketing campaigns to increase brand awareness

83 . g3t o1 TfgATHRUT g F T U d- 3w §: /

Codification of items is a pre-requisite to:

A) 30T B! HH T & AT / Reducing wastages

B) facparaii ot T o1 WfHd B & ﬁﬂl / Limiting the number of vendors
@) WWH%WW%%Q/ Reducing purchase costs

D) 'sCG-IWEﬂEI'ﬁ Wﬁﬂﬁ%ﬁﬂ/ ERP implementation

Page 19 of 41



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

84 . fAufoRad & ¥ SI9-T HHaR! UeRH BT 3fhd B3 & [l IUTNT Pt o Tl T

T fafyr 2 /
Which of the following is a common method used to assess employee performance?
A) TG adiemr/ B) SHifRicd HTdhel /

IQ testing

Personality assessment

C) UG HedidH / D) HHAR] TR /

Performance appraisal Employee counselling

85 . TR MsaRM Yeet (TAUTEy) g o FAfdy a=an g: /

The Master Production Schedule (MPS) specifies:
A) T FiEd Iramafd & Idifed fort o ard e 3d1g &t $d dEl /

The total quantity of each product to be produced in a given time period
B) Ud® ITE & oIt Icre 1l &1 hH | /
The sequence of production operations for each product
C) Y& IdTe 99 ¥ AT I faaru| /
The cost breakdown for each production batch
D) HHARY UFR&07 T3l Bt THI-TRUR | / The schedule for employee training sessions

86 . AT a1 3MYfd A SifAfEaar & favg [y TR &1 ATd it ! TR &b F9 H T S 82 /

Which type of inventory is held as a buffer against uncertainty in demand or supply?

A) b1 i:ljﬂ / Cycle inventory
@) Wﬁ?ﬁ/ Seasonal inventory

B) TR&IT HSR / Safety stock

D) USRI ﬁ’zﬁ / Anticipation inventory

87 . HIH-TT Ueg WSS ST DI IRT HRA & fo1T HHART USRH & Hidh 3R JUR B
Ufehar T guf a1 82 / What term describes the process of evaluating and improving
employee performance to meet organizational objectives?

A) UTRI&01 Td fdT / Training and development
B) ‘J-I'cﬁ/ Recruitment

C) UeRH U§eH / Performance management

D) &faqfc & / Compensation management
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88 . Uroige TfAfafiral & srqepd iR e & guiA & fo fry ticiae Usem Iuehur &
JUTNT fasat ST 87 / Which project management tool is used to represent the
sequence and dependencies of project activities?

A) 13?:’7*-“?::/ Gantt chart B) el fﬂ_ci/ Pareto chart
C) SfRIBHIAT 3R / Ishikawa diagram D) PR WIe / Scatter plot

89. m@wn@@qmmw% / What is the purpose of a project milestone?

A) m@a‘éaﬁa’mﬁ%m/ To track project costs
B) Wioide crgHare H Hgayu! faigafl & fifgd & /
To mark significant points in the project timeline
C) TINide TR 3RS &A1/ To assign project tasks
D) TiSlac 1 TUTa &1 Hedidh BT / To evaluate project quality

90 . “T[UTaRTT TR ERHIV Udbighd BT eg [hoy Taifdd 82 /

What does the term "Integrating Perspectives on Quality" refer to?

A) Tt Tra+ & HeR T faurT &1 §-1T e+ /
Maintaining siloed departments within an organization

B) Shad 3feUdhIieieh fatiig e TR & s BT /
Focusing solely on short-term financial gains

C) T[oTaT AT A & fore faftm eBaion oiR ugda o =nfird &=/
Incorporating various viewpoints and approaches to ensure quality

D) AT} b1 Ufdfehar 3R Ui aralf o ToR3iers BT /

Ignoring customer feedback and preferences

91 . DIF-3T XVeg TSN &l 1 U & fore suferal & A1y e gai s &9 9 &
B DI &1 I Yeffd HRAT 87 / What term refers to the ability of individuals to work
together cooperatively in pursuit of shared goals?

A) GISES] (@Fﬁﬁ) / Synergy B) HE@T[ @a_@ﬁm / Collaboration
C) WIddI (Giﬁ:ﬁ";ﬂ) / Autonomy D) ufaafirar (ﬁmﬁm / Competition
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92 . HHIARI AT Uobol P =0 H HHARAT B! JraId: Fufefad & ¥ oi=-a1 ay fean

SITdT 82 / Which of the following is a benefit typically offered to employees as part of an
employee benefits package?

A) BT TI=ATT / Job analysis

B) WW/ Performance appraisal
(@) W@Tﬂ/ Health insurance

D) UfR1&01 T4 fd®N / Training and development

93 . TURY fHmior & yaiaroity siteper & Yo7 U J 1 it g 87 /

What does environmental appraisal primarily involve in strategy formulation?

A) FHART TERH 3R DI [GHT o1 Jedidh &1/
Evaluating employee performance and skill development

B) 311, TrHIRTE 3R W] S S S8} RGB! BT 3Mheld BT/

Assessing external factors such as economic, social, and technological trends
C) TS H AN =M & JUTA bl AN AT /
Implementing cost-saving measures within the organization

D) UTgh! &I UTATHH TS Bt Uga HRA b ol ISR Y HIAT /

Conducting market research to identify customer preferences

94 . "ER YSY" P SHTd Bl | A T8 &: /
The functions under “Stores Management” DOES NOT include:
A) IR Bt IfG, faaRor 3R HSRUT/ Receipts, issue and storage of materials
B) 3G I AreTT T 3R &aa?h/ Planning orders and follow-up

C) AR &1 HRIA FdTeH Td UM / Efficient handling and disposal of materials
D) TR o1 P IWXWId / Maintenance of store records

95 . AR NS Vsgd (THUTY) 44 8T 8: / Master Production Schedule (MPS) is a:

A) IR THIN @Y ¢ TS / Daily plan of material orders

B) T THICRI &1 ATiige droiT / Weekly plan of material orders
C) AT THTGR &I HIRI® dIoTT / Monthly plan of material orders

D) T THICRN BT 6-12 HIE PI AN / 6-12 months plan of material orders

Page 22 of 41



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

96 . FARfRaa & ¥ HH-I1 81 SRe-39-21=2H (GI3MS ) AT I YU &1 82 /
Which of the following is a disadvantage of the Just-In-Time (JIT) inventory system?
A) HSRUT AFTd ﬁq@/ Increased storage costs
B) SUAIdT & SIRGH | HHT / Reduced risk of stockouts

@) &nqﬁmﬁaﬁmﬁlhm/ Dependency on suppliers
D) AR Kleh b 3(feh TR / Excessive buffer stock levels

97 . {9 UeR & WemhR # fdl faviy et & fore ot Sufieart & w9 uy g wnfia

87 / Which type of interview involves asking the same set of questions to all candidates
for a particular job?

A) TEATEG TTETHR / B) 3RRfId HIETHR /

Structured interview Unstructured interview

C) GNP TI&PR / D) Ul TT&Th R /
Behavioural interview

Panel interview

98 . B Y U HIR 3R TR &1 Uga & fq=Iwe a1 87 /

What aspects characterize Marks and Spencer's identity?

A) TR, Y, 3 UgT / Innovation, Affordability, Global reach
B) faymy, T0TgT, a1 / Trust, Quality, Service

C) TIfdl, G&fal, AFTd-THTaRiTerdr / Speed, Efficiency, Cost-effectiveness
D) faaTRran, fafRmyar, sueug / Luxury, Exclusivity, Extravagance

99 . Fofofad # @ o19-91 e &1 mufiie Hrf A8l 82 /

Which of the following is NOT a primary function of logistics?

A) ﬁ?ﬁ U&= / Inventory management B) URag / Transportation

C) faspt 3R fauuH / Sales and marketing D) HSRUT / Warehousing

100 . foreft fmfar & faeRor g 0% WIe & S B Ufshan 1 6T S 8: /
The process of moving goods from a manufacturer to a distribution center is known as:
A) S g mﬂm / Inbound logistics
B) a%nﬁﬂwa (mm / Outbound logjistics
C) 3dcI g (ﬁaﬁaﬁf@aﬂ) / Reverse logistics
D) m@f[m?{ (ZCIARMA AIIRead) / International logistics
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101. T U1 Ufsha & g el &1 Ac AT A ¥ SR & AGHM b T4 foban Srelt
g 3R R RR ga1 A ST fra ST g1/ is a process in which a steel is

heated to a temperature above the A or the Acm and then cooled in still air.
A) ®ARA / Hardening B) THTIRUT / Normalizing
C) WA (@) / Quenching D) AMUTIRAa @A) / Annealing

102. %GWER?IT%? / Whiskers are:

A) 10-1000pm ST I &S TS BIZER /

Long strand fibers with 10-1000pum diameter
B) 1- 10pm T aTcl! g3 ST TP a1 Bl Thd fohied /

Small single crystals having needle-like shape with 1- 1T0um diameter
C) 10-1000pm ST aTel T & g §U XN 4 & A1y /

Sheets made out of interwoven fibers having 10-1000um diameter
D) 10-1000pm HICTE &1 W-Tqe T fges= areft ufgart /

Adhesive strips with a self-curing ability of 10-1000um thickness

103 . forelt uaTd &1 Uy U 9 fagpd 811 IR SHoil dI Sa=ifid dHRA 3R IR oH R 34
agy €§|Sﬁ @1 & 1 HET ST §: / The capacity of a material to absorb energy when
deformed elastically and to release it back when unloaded is termed as:

A) Id (E'Chﬁﬂ) / Toughness B) d=IdT / Ductility
C) 3frard adTdT / Malleability D) T / Resilience

104 . 98 f3fY fOGP GRT 3D &I T B P foTT 3P & HUN DI o gRT 3R YT
@) & BT B Ut e e o g, e Seardt @/

The method by which ore particles are wetted preferentially by oil and gangue
particles by water for separation of ore is known as:

A) 9T I&ra faf¥ / Froth floatation method
B) T[>cd YUIHRUT / Gravity separation

C) YINma® fAsHHUT / Chemical extraction

D) 91 GYFHIUT / Magnetic separation
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105 . SR & dTGHM IR A I=0dl & SR, gfcharsfl gRT Agpd il o
IdTe YT 81 81 / Due to limited ductility at room temperature, the production of
complex shapes is not possible by processes.

A) Tlﬁm/ hot working B) ﬁﬁm/ cold working
C) ®& AU / room temperature D) B RIGRU (BTSf+T) / hardening

106 . U SHTHRoM 314 Tard & forg fafkiy x-fasvor faad= ufaesy mraretar o 91 20)
HHTId: 39 UHR 8T / The characteristic X-ray diffraction pattern (intensity counts vs
20) for an amorphous solid material will typically be like:

A) WWﬁ%ﬁﬁﬂW (S8 Ui®) / Broad peaks of varying intensities
B) ﬁ%wﬁaﬁqmq—sﬁ/ No visible diffraction pattern
C) T Uohdl T3 RIeR (siTs tiep) s s T8l & gt 21 /

A single broad peak followed by smooth decay

D) 0° TR ey Teerdl FRReR forads a1 Gel e gar gl /

A maximum intensity peak at 0° followed by smooth decay

107 . UIIYdT &1 HIYTeh f% &1 AT BIdT 8: / The modulus of elasticity is the measure of:

A) I (@1fa) / Strength B) ®ARdI (CH-4) / Toughness

C) Tedl (REW) / Stiffness D) = (Sfaeferel) / Ductility

108 . 98 Wifsha forad firerell g3 U1q v a1 39 91 gRT U Aidl H Yalfed gidl & Sl I8
T B} BRI & SATHR H o Il 3, FEaT gl /

The process in which molten metal flows by gravity or other force into a mold where it
solidifies in the shape of the mold cavity is known as

A) U8 (RWRHT) / surfacing B) %o IR (BTS1-) / hardening
C) ARG (3HfAHT) / annealing D) GaTs (HIRC) / casting
109 . WD S = - k3; [pi In pi] T k8 /Inthe expression S = - ki [pi In pi ], k is:

A) SieesiiF f&RI® / Boltzmann's constant
B) T UUTTeH o HAI I $ol 9gd dof BT o 3/
The fraction of the total very large number of specimens of the same system

QU E:Id / Entropy
D) faWel ®icH 3@RAT/ Distinguishable quantum state
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110 . ST A (gfaere=) & forg, ifives o & fore sy god Suif ulkad= &

A I 8? / For homogeneous nucleation, the Gibb's free energy change for nuclei
radius shows:

A) TIAH-Tad SHoll & HRUT YTHS i /

A positive increase due to volume-free energy
B) U8 Had $olf & HRUI BUNEHD g /

A negative increase due to surface free energy
C) 3MTIA Gad Holl & HRUT BUNHD qfg /

A negative increase due to volume free energy
D) T8 Jad Solf BT UHIG T0g gl gl /

Surface free energy has a negligible effect

111 . 4 RS SAGH DI (9 & TG H UK b1 S & /

Total factor productivity is presented as:

A) $d BREB IAGHA = (A A3cYC / $d 1Y) /
Total factor productivity = (Total output /Total input)

B) $d SdTGHdl = $d I / (31 YT + Uoit 39Ye + Haal Ugd 39Ye + fafay
<799 /

Total productivity =Total output/ (Labour input + Capital input + Raw material

input + Miscellaneous input)

C) 9d dRP Jdlqdhdl = (P gTYC / Pl 33CYC) /
Total factor productivity = (Total input /Total output)

D) $d HRP IdGHAN = (Hd 3YC + a4 / P 3M3YC) /
Total factor productivity = (Total input + Services /Total output)

112 . U Tashifdd (Gefacd) aRad- sifNfehar &1 9 UeR e fava o 9ol &: /

A eutectic transformation reaction can be expressed as:

A) 3= B, + 3193 (SEPHUIN) / Solidi= Solid: + Solids (Reversible)
B) &d + 314 = 31, (3&hHUMY) / Liquid + Solids = Solid, (Reversible)
C) «d= SR+ B3I, (Wﬁm / Liquid= Solid1+ Solid, (Irreversible)
D) %d= 314+ 31, (SGhHUI) / Liquid= Solid:+ Solidz (Reversible)

113 . AR T GHRAPd T I DI 5 Hifdd ¥ $© -11d & dIaH W GIaRT TH B D
UfshdT & o1 B8 ST 87 / The process of reheating hardened or normalized steels to
some temperature below the lower critical is known as:

A) JgHRUl (IR / Tempering B) WTHTRIIHRUT / Normalizing
Q) Eb_cﬂT:[/ Hardening D) ?'HUTT\’ﬁH:[ (Q:ﬁ?[:l) / Annealing
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114 . SR} (SRe-37-218H) T1 AHTY @ITIeT-IdeH-Uume)) Fg W SR ed 8 /

JIT (Just-in-Time) or TPS (Toyota-Production-System) emphasize on:

A) @RI I 3R IR IUTG! DI UEH ad UgdMH b (oY T8 HER HT HERU H=A /

Stocking large inventories for quick production and dispatch of finished products to
customer

B) IdTGH S & 1A & U H HH-Ufhdr Bt 3ifeed & Ty SRR IR SffaHR

(m@ W/ Overloading workstations with excess work-in-process as a means
to increase throughput

C) 3ffafiad AN &I MUTdEwTe THY & ol [T dTfds WRIST & HRUT IdTe GHIAd

T8I/ Keeping excess machines on standby so that production is not affected by
breakdowns

D) HTS YUl A dReb ST Igh! 3R HT-Ufehal & arg &I Fafd & /

Controlling production cycles and flow of work-in-process by implementing a card
system

115 . 3MYFH SRTY (STH TATeH Ao Yobe! (Y BT UH ISERI 6: /
Modern ERP (Enterprise Resource Planning) package is an example of:
A) JaT & U § ATCaiR (Saas) / Software as a service (Saas)
B) YT & TYH AT (PaaS) / Platform as a service (PaaS)
Q) a1 & ¥g H GO (laaS) / Infrastructure as a service (laaS)
D) TqT & ¥U H FA3S (CaaS) / Cloud as a service (CaaS)

116 . o1q ol (USSR) & IdTe & fore FgfeRad &  few fafy o1 Iz 718 fvar srar g2 /
Which one of the following methods is NOT used for producing metal powders?
A) HUNDHIOT (31vlé|13| Q@I’-‘Z -) / Atomization
B) WX 3R IEfET/ Machining and grinding
C) Y= / Compaction

D) faggd suee Faaci i) / Electrolysis

117 . AR R Y& 1 RE FxA & o8 ame (1 a3 SR 2Rae (@GS1 w1 § et
gfehar & & EUH AT ]/ The process involving heating and cooling
usually applied to produce softening of material is known as

A) ?qu'lﬁ?ﬁ?ﬂ (Q:m?hl) / annealing B) RMHA (av"@'rl) / quenching
C) HORA (GIST) / hardening D) 3ffcrRitded @CR?%TD / supercooling
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118 . DIF-TT FHTH 39 4RO W YR & b TR0 sida: T SraT 8, I JrraRyT s
3Tt § SIF FigdT 8% S8 THH 8l 87 /

Which law is based on the assumption that diffusion eventually stops, that is

equilibrium is reached when the concentration is the same everywhere?
A) ftheh &1 UgST 7199 / Fick's First Law B) fi1sd T / Gibb's Law
C) Seed &1 AU / Boltmanz's Law D) fheal® &1 99 / Kirchhoff's Law

119 . T& BIZR HUIoIe H 75% FUTRIT 3R 25% IR 81T & | 3T T B fF Eepory = 80GPa,
3R Egoron =380GPa g, Al ARIGR AU 3R TS 3 & TUHT B | /

A fiber composite consists of 75% epoxy and 25% boron. Given that Eepoxy = 80GPa,
and Egoron=380GPa, calculate the elastic modulus and load fraction.

A) Eafmsr = 230GPa, 25% / Ecomposite = 230GPa, 25%

B) Egmay = 155GPa, 25% / Ecomposite = 155GPa, 25%

C) Egmor = 155GPa, 61% / Ecomposite = 155GPa, 61%

D) Eufrsr = 460GPa, 61% / Ecomposite = 460GPa, 61%

120 . g1 URienuT (IR ford IR S U 1 3 9l & S0 gRT STHR faar
I 8, S U &t w1y aed (dies Ky ¥ i 8id & 39 el odl &: /
The material processing in which the starting work part is shaped by the application of
forces that exceed the yield strength of the material is known as:

A) fa=uur ufesdr / Deformation process

B) {01 Ufehdl / Particulate process

@) wﬁﬁwm/ Material removal process
D) ¥da! UfehdT / Surface process

121 . 98 gAY daH forg W fAuiia uikfufaat & 81 89 W 24 garied g,
%1 HEATAT B: / The lowest temperature at which the fuel will flow when cooled under
prescribed conditions is known as:

A) §8Tdi® / Pour point B) ®¥YHi® / Boiling point
C) TSI / Melting point D) fgHieh / Freezing point
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122 . gedelss Wi BIe- T Bl Teb TG, Shifdes dTaHH J 3l HUR T o1l § o o
540 T ARG R He e iR friiar ST 8, @ sifaw Iare e /

A sample of eutectoid plain carbon steel is held at just above the critical temperature
followed by slow cooling and soaking at 540°C, the final product will be:

A) ﬁﬁq?ﬁs?/ Coarse pearlite B) é:usa / Bainite
Q) Wﬂ?ﬁg‘c’/ Fine pearlite D) IFI%"FIE_C’/ Martensite

123 . 98 Uteror fora® Sarar (FSeRM) 1 TTERTS Y HIGHT AT 8, HETdT 3: /

The test that involves measuring the depth of indentation is known as:

A) ﬁﬁﬁﬁ&ﬂ/ Rockwell test B) foma ot / Brinell test
C) 9 GH&T / Knoop test D) faehR TRI&T / Vicker test

124 . WD 397 | SHoll BT TN B bl fodt Frft B & B FHETSaIgl /

The ability of a material to absorb energy in the plastic range is called

A) AATATIH/I TR / resilience B) ﬁﬂﬁf(ﬁﬁm / creep

@) %I'i'l%fﬂ'lﬂ'&f/ fatigue strength D) BRI (chh:li-l) / toughness

125 . fit uerd &1 Uer So1s A6 Y a1 Jid | AT T18) & J9EE (°C 31 K H /797 73T |
TP IHIS B glag B & Q1Y SMALID SWT Bt HET (S T BT & AT TS) B FHal
\_rﬂT'lT%:/The amount of heat (measured in Joules or Calories) needed to raise a unit

amount of substance (measured in grams or moles) by a unit in temperature
(measured in °C or K) is known as:

A) dIUHIA / Temperature B) dIUHIA E’H'Tl'sc / Temperature unit

C) HBHT &HdT / Heat capacity D) fRRR 3{1IaH / Constant volume
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126 . U YbTRg gerex (3ffwd agsiey) & faved o g yer ufikuifia fear

41 8: / Resolution of an optical microscope is defined as:

A) 2 foigsit & ol gad gudH fo IR 3% 2 gus fdgsi & U o Wy =0 I <91 off off
J&Hdl g1 / Minimum separation between 2 points at which they can be visibly
distinguished as 2 separate points

B) 2 feigail & dla siftieraH gy for TR I 2 gy figafi & U # Wy U J & off

F&Hal g1 / Maximum separation between 2 points at which they can be visibly
distinguished as 2 separate points

C) faad= ufoeu & 2 R R a-gHa I« (GATER fo%) & oid SfaR B D & /

Ability to distinguish between 2 far spaced Airy discs in a diffraction pattern
D) faad ufoeu & 2 sifadt argHa Tt (8a1eR fe%®) & s SfdR B B! & /

Ability to distinguish between 2 overlapping Airy discs in a diffraction pattern

127 . T 3G Ufehan & TUTe® 3ifidwHe B e &1 & /

The major function of a collector reagent in the froth flotation process is to:

A) 30% T & SgHed Wi o THYUT T VIR IS §MH1/
Create a stable pulp composed of up to 30% mineral value

B) Tifdd SgH WS & U8 WR TAIHS U J S1eAT /
Selectively bind to the surface of the desired mineral value

C) U FRR 1T ST Sl §gH WS & Wid- § gl BT/
Create a stable froth that aids in the flotation of mineral value

D) JYdhRUT & foT SgHed Wil &Y R (efst)) Td Tl AT /

Agitate and collect the mineral value for separation

128 . d 9gAP Sl TH HRA TR RH 81 9 §, 3R 381 R W HoR 8l I 5, Heawd o /
The polymers that melt upon heating, becoming formable and regaining their solid
shape upon cooling are known as:

A) dIOgHS (YHEIRD) / B) dTUE¢ (YHIACH) / Thermosets
Thermoplastics
C) Uhddh @:ﬁm / Monomers D) JudI (‘ET%@ / Plastics
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129. ACRIfeD =uideon & =iy % / Martensitic transformations involve:

A) WT@@TW@WWW/ Long-range mass diffusion of atoms

B) Y& ¥Rge H uRdd / Changes in chemical composition

C) foreea Iem1 & 18 uRad T8l / No change in the crystal structure

D) fawRur Ifed ggd ®H MQHIUJTW/ Diffusionless very short atomic movements

130. 1 fore 9a &1 AmUEM 1 S AT 9gM & AT 3Ma=uss kCals & 9 =0 | ST WA

2: / The kCals needed to raise the temperature of 1 kg of oil by 1 degree C is known as:
A) ﬁﬁ@m/ Specific heat B) FORI A / Calorific value
C) RYIAI / Viscosity D) Y- / Density

131 . T a1y siefaraes # fagya @l SR 9U8 sfaRTa &1 fFafafad # 9 eH-a1 daom
B2 / A typical semiconductor will have which one of the following combinations of
electrical conductivity and band gap?

A) 10" ohm-m™ 3R 1.2 eV / B) 1020hm-m™" 3R 1.2 eV /
10" ohm-m™and 1.2 eV 10°ohm-m™ and 1.2 eV

C) 10 ohm-m™" 3R 120 eV / D) 106 ohm-m~" 3R 12 eV /
10" ohm-m™ and 120 eV 10° ohm-m™ and 12 eV

132 . 98 gAY AMYAM o/ R T4 [AhS) A & Yud H 3H W dd 31T 96 S Adl 5, 39 Hal
WA 8: / The minimum temperature at which the oil will catch fire if exposed to a
naked flame is known as:

A) Usaa fag (T @) / B) §1di% / Pour point
Flash point
C) fedis / Freezing point D) ®YHId / Boiling point

133 . W el Dl &R ardrarul o [a%g 3ifohd 97 & ford I DIfy o1 gAad
gfa=d ®H 9 ®H BT 81/ The minimum percentage of chromium in stainless
steels to render them passive against corrosive environments is at least

A) 8% B) 16%

O 11% D) 22%
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134 . A SRS (GaAs) S SiefaTed yerd & for frd TR 1 srmey arifaa 82 /
What type of bonding is expected for a semiconducting material like Gallium Arsenide
(GaAs)?

A) 3TIH® & / lonic bond

B) uTfedidh &Y / Metallic bond

C) GgYINSId §¢ / Covalent bond

D) drSxdred 3{1§Y o Ty YgudIeich §Y / Covalent bond with van der Waals bond

135 . O1d &l YTq¢ 31QT- 3T STALW & 1Y faggdia Tud 3@t § al g aral JeRuor
HEAT 8: / The corrosion that occurs when two metals with different EMFs are
electrically connected is known as:

A) THIHM F&RUT / Uniform corrosion

B) Tiedf~e T&RUT / Galvanic corrosion

O faefveT demur / Crevice corrosion

D) 3R UI H&RoT / Inter-granular corrosion

136 . U@ & oy & for gia-eRiee wfsean : /

In the Hall-Heroult process for extraction of aluminium:

A) HIAAISE & 1Y fFoid TeafiT &1 dferd faaad faggd-sroee gr1 dqfifaw urg o
3YTRd 81 ST 81 / Molten solution of anhydrous alumina with cryolite is reduced to
aluminium metal by electrolysis

B) fAoict AT Wet H HreA Wi efiaTss gRT YqfAfam org o sraafdd 8l SIar g1/
Anhydrous alumina is reduced to aluminium metal by carbon monoxide in a furnace

C) Ofean wraHe & Wy Fsta YfemT Sferd faaas fagya- sraee gRT Ygfifam arg
# 3gafid 81 ST 81 / Molten solution of anhydrous alumina with sodium carbonate
is reduced to aluminium metal by electrolysis

D) QfeTw BIESIRIgS & Ty fsiar YGAAT 1 Tferd faerem fagya-sroee gri
Q@&Tﬁ'ﬂ'ﬂ ﬂTﬂﬁ 3TARd § ST 81 / Molten solution of anhydrous alumina with

sodium hydroxide is reduced to aluminium metal by electrolysis
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137 . U $HIA ZoR & forg, FAuforied & 9 oH-3 ord g 819 =fee? (v - omadH, A - g8
m / For an efficient riser, which of the following conditions must be fulfilled?
(V-volume A-surface area)

A) (V/A)arfen > (V/A)wssr / B) (A/V)wifen > (A/V)wresr /
(V/A)casting > (V/A)riser (A/V)casting > (A/V)riser
O (V/Ajmsr > (V/A)arfeen/ D) (A/NV)rssr > (A/V)arfen /
(V/A)riser > (V/A)casting (A/V)riser > (A/V)casting

138 . ot & 1< Sare, fafaerar $ik Iare A g & SR W T Iuged Mmyfe fafmor
JUTTRHt 1 SO o fo1T, HEY YU B UgaH Hifeig| /
For adoption of an appropriate modern manufacturing system based on a given
product variety and product volume mix, identify the CORRECT statement.

A) SH T/ fafaydr. Te aite fafafor gormedt sror /
Low volume/Low variety: Adopt a flexible manufacturing system
B) 3if¥Iep H/hH fafdedr: RIRe 4 o=/
High volume/Low variety: Adopt manual labor
C) Hegw HHT/HegH fafdedr: el fafafon gomedt sro=m /
Medium volume/Medium variety: Adopt flexible manufacturing system
D) = HIAT/I fafderdr: Wearad CNC w=iH SioHHT/
High volume/High variety: Adopt standalone CNC machine

139 . A& Ted( U & SIHR, 1 I 0y UTgsT & ded HUe! TIgR & el
hH DI UgA DIfTT / As per the standard galvanic series, identify the CORRECT order
of increasing cathodic behaviour of these commercial alloys.

A) TiAlV, 316SS, Uidd, Al7075 / B) Al7075, Utdd, 316SS, TiAlV /
TiAIV, 316SS, Brass, AlI7075 AI7075, Brass, 316SS, TiAIV

C) Utdd, Al7075, 316SS, TiAIV / D) 316SS, Wdd, TiAlV, 316SS /
Brass, Al7075, 316SS, TiAIV 316SS, Brass, TiAIV, 316SS

140 . foeft ot ORMAA AuaM@ R, el 31 & wRany] Sut Ader Rufadl & IR ok FRaR
A A H B § 1 I8 HUA Tt IR AR/

At any finite temperature, the atoms of a solid are in continuous oscillating motion

about their equilibrium positions. This statement is about entropy.
A) AT (UHS) / thermal B) TIfxf® (SEHIH®) / dynamic
C) 3G / electronic D) 91 / magnetic
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141 . 35 wt.%Ni-65 wt.%Cu 319 faaa iy arg (a1 8 7% Ni- m.p. 1455° C, Cu- m.p.
1083° C) H %dIg XA W A1Y® & ST dTel i &1 Fged gHT: /

The composition of the first to solidify nuclei at the liquidus line in a 35 wt.%Ni-65
wt.%Cu solid solution alloy (Given that: Ni- m.p. 1455° C, Cu- m.p. 1083° C) will be:

A) Ni ﬁﬂﬂq—s{/ Rich in Ni B) 35 wt.% Ni-65 wt.% Cu
Q) Cu ﬁﬂ%/ Rich in Cu D) 50 wt.% Ni-50 wt.% Cu

142 . Uerd YRR (MRRET) o 318 & & e vt wiT ! fedifed vd @, oo s
S5 BACT BT STHR UG HR <ell 8, 3 Bl ol 5: /
The material processing in which two halves of a die squeeze the work part, causing it
to assume the shape of the die cavity is known as:

A) TRIES / Extrusion B) BISf-T / Hardening
C) PIRETT / Casting D) WISiA (WIfSHT) / Forging

143 . Q1 A1 G Y YD el TRATY GouHT aTed Teb 51 dcd b URHTYS bl FHEI ]l /

Atoms of the same element having two or more different atomic masses are

called
A) UREY (QT*ﬁ?ﬁtD / allotropes B) =0T (&'IE@'@T%) / isomorphs
C) AR (3ATHIE) / isotopes D) §g=UT (UlciHth) / polymorphs

144 . FEfafed § ¥ SF-91 99 IR FE-Fe- Wied & ST {1 ST g, @ 41g &1
AT 3R 3wy S gard 0N aTel &1 &l 82 / Which of the following when used in

ordinary low-carbon steels, makes the metal ductile and of good bending qualities?

A) HehR / Sulphur B) IR RY / Phosphorus
Q) ﬁ‘FﬂG{/ Manganese D) %WT:[/ Silicon

145 . HeTgH IS (S Ga &R FiebTa ST 8) & Fifor & forg SudhT &t i areft fafmior
UfhdT &1 19 dd18U1 / Name the manufacturing process used to manufacture
collapsible ointment tubes.

A) BIRAS TRITSH / Forward extrusion B) SHIdC TRISSH / Impact extrusion
O Qe AT / Tube rolling D) Wi/ Swaging
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146 w%aﬁrl%mgém (Rpaed)) B: / Fused Silica refractory is:

A) Wﬁ &R / Basic in nature

B) Wﬁ(‘l—cﬂ?ﬂ:{/ Neutral in nature

@) Wﬁﬂﬁ SaaRiTe / Pyrophoric in nature
D) El?ﬁfff 31T / Acidic in nature

147 . faqgd &Y § e (IGRIH) WRHY] & forg, A1 | Wl &l ST (S URATY] shHidh, Z
%) & ISR At g1/ For an electrically neutral atom, the number of protons in
the nucleus (which is the atomic number, Z) is equal to:

A) YITHS SR BTl / Positively charged particles

B) 3@?@’7{/ Electrons

@) WQE:JFT/ Neutrons
D) sad;Td 3R *igT-l / Electrons and Neutrons

148 . a8 Ufehar foaH URY UTfcdds 31 ST bl U O IR gebl He] o el Dl geT
fem ST &, A Feand §: / The process in which the light earthy impurities are
removed from the heavier metallic ore particles by washing with water is known as:

A) o7 (TearTgIRM) / B) TSI YU GYThRUT /

Pulverisation Gravity separation

C) "igUl / Concentration D) YTd= (@TRRIT) / Washing

149 . IRATIH YIS (oT) TG UIT (0) 3R HFAIHDB AHT () F oa i Ty
ﬁ'E[Fqﬁﬁ'qTTl'qT%‘: / The Mathematical relation between true stress (or) engineering
stress (o) and engineering strain (e) is given as:

A)or=0o/(1+e) B)or=0(1-¢

C) or =0o/(1-€) D)or=0c(1+¢

150 . Y fESHTa AT TId W g g HIfET &) T IR IR Rl g1 a1 fg &
ﬁWW%WWW% / The thermal spraying prepares a layer of titanium metal
coating on the stainless steel. This is to improve:

A) T WA T&RUT / Stainless-steel corrosion

B) NI 1IUT%I1£I/ Chemical property

C) IHD (AdCR) / Lustre

D) LAY W GeRT qﬁﬁ“c{/ Stainless-steel corrosion resistance
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QUESTION BOOKLET SERIES B SUBJECT CODE MAO 1

[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question

Booklet and the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.

4. This booklet contains 40 Pages. Please check for completeness of the Question
Booklet immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be
marked on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely,
corresponding to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read
such marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once
darkened cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet
will be provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be
disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator.
Use your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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Materials - Version B

Question No Answer keys Question No Answer keys Question No Answer keys
1 A 51 B 101 B
2 D 52 C 102 B
3 A 53 B 103 D
4 A 54 C 104 A
5 C 55 B 105 B
6 C 56 C 106 A
7 A 57 B 107 C
8 B 58 B 108 D
9 A 59 A 109 A
10 C 60 C 110 C
11 A 61 C 111 B
12 B 62 A 112 D
13 A 63 B 113 A
14 A 64 D 114 D
15 B 65 C 115 A
16 C 66 C 116 C
17 A 67 D 117 A
18 A 68 C 118 A
19 B 69 C 119 C
20 C 70 B 120 A
21 A 71 C 121 A
22 B 72 D 122 C
23 B 73 D 123 A
24 B 74 C 124 D
25 B 75 D 125 C
26 D 76 C 126 A
27 B 77 A 127 B
28 C 78 C 128 A
29 A 79 A 129 D
30 C 80 B 130 A
31 B 81 B 131 B
32 A 82 C 132 A
33 B 83 D 133 C
34 A 84 C 134 C
35 B 85 A 135 B
36 B 86 B 136 A
37 C 87 C 137 C
38 A 88 A 138 C
39 A 89 B 139 B

40 A 920 C 140 A
41 A 91 B 141 A
42 C 92 C 142 D
43 D 93 B 143 C
44 A 94 B 144 C
45 C 95 D 145 B
46 C 96 C 146 D
47 C 97 A 147 A
48 A 98 B 148 B
49 D 929 C 149 D
50 A 100 B 150 D
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